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Collect like terms and then simplify the following polynomial
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Collect like terms and then simplify the following polynomial
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Collect like terms and then simplify the following polynomial
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3) Determine the perimeter of the following
shape
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5) Model the following Polynomial
5x -2x2 -3
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Any Questions?2?

Section 5.3
& . Adding Polynomials
O

Day 1

Determine the sum of 6X2 +2x +9 and -3 +4x-5

When we write the sum of two polynomials, we write
each polynomial in brackets:

(6x2 +2x + 9) + (-3x2 + 4x - 5)
ox* 2y +9 -3¢ +‘~\\L-S

-3 12y 9
NS +oy +4
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No Tiles

We often do them without algebra tiles

(6x2 +2x + S))Q—}-Bx2 + 4x - 5)

Drop brackets

6x2+2x +9-3x2+4x -5 G—

OX2 - 3x2+2x +4x+9-5

3xX2+ bx +4
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Copy
Adding Polynomials Without Tiles

understand +1 in front of second bracket so distribute through

Add: (5¢c-11)+ (-4é+c +7)
S5c-11 —u~2
S e R
YTt Scr e ~|1 41

-4t e Yy
Method 1:

Add horizontally:

(5c-11) + (-4€é + c +7) Remove the brackets.

5c-11-4e +c+7 Group like terms.

42 +5c+c-11+7 Combine like terms by adding their coefficients
(remember that c has a coefficient of 1!)

4@ +6c- 4

Method 2:

Add vertically. Line up the like terms, then add their
coefficients.

5¢c-11
+ 4c2+ ¢ +7

_-4c2+6Cc -4

So, (5¢ 42t ¢ =
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Page 228 - 229

3 - Write the sum of polynomials
4) MUST USE ALGEBRA TILES
5) NO algebra tiles

6)

8)

9)
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Section 5.2 (Math 9) Take 2

Polynomials

Simplify each expression.

D 4 —6r+2" +7r 2) b — b —7h° — 8b*

4,98 _ h
Llf 2 ~Lr+r ‘“s _r'bs _“;_ '%b‘

G‘q + r _Lb‘s _qb‘?-

3) 8n® —6n=2n" +6n 1) 6x2 — 1+7 +4x2

B-20" — bt X2 H* —140

bn® l0x* +6

5) 6x—5x" —8—3x" 6) 2+x +8x +3

-&Q'&"‘-‘X_L Ixj.'gxs +Q+S
— B! +6x=8 A +1






TSk + 3k 6k = 20
Sk> +5K -2k —bk
BK® +3k —bk

8 5 +5° +6+ 7"

5 et $53 o

——

Rt +5° +b

9) 3w —6m’ —6m’ —3m’ 10) 6+t 4n° +2n
Im ~lm” —lm’ - 3m® 4 +1n42n + b
4 3 Yp® +30 +b
3wt = 9m

11) 65 +6—3b-5 12) sn* +4+ 0% -6

bk —Sb 4, -5 SattTn! +4-b
LY -5 + | 120 =2





13) 2 - 5x° -8 +8x°
~5+8x> +A -8
3> -b

15) Ip® z4+447p°

T4 Te* <Y +4
4"

1Ty 2—-4r+2-2r

— s —

Mr-2¢ 4349
“br +4

14) 6x* — 2x” + 5x* — 5x°

3
byd 45 — 2 = A

”xq —_ '7:(3

16) 4k — 7k* — 3k - 3Kk*
— — —

=Tk =3 44k -3k
-0k +1K

18) 3-3p* —p* -4

=3pt-1% 43 -
—kw-c __I





19) In’ Zdnt3n 2’

q“'s-l-lns —"|¢\+3n
%> —In

21) a—4a" +7a" +a’ —4a

Yl 1T + ot Yo +la

20) 4a” —8a” +8a° +35a°
Ya?+ 8a> + Sa’-Fa’
v
12¢® — DA

22) 8k* +1+6k" =3k +1

QKb 32 41+
ILqu __3k3 41

24) 32" +x° —4x +3x 3
33- 4 4 b XX
(A
“x-s r q X = 3X





25) n—dn’ —4n° +Intl 26) 8m" +m—=3m+2m" =5m"
_q“s "'\lfi‘> +Ini In + gl =S’ 42m" 4 lm-2m
NV
-8“1 3 &n l Bm! 42 dm
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